ST 145y i = X 15
XATF 4« SR FoE LB E
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * # ®
W A EPET 5 B 2 g 30 | 1.0 —i 4. i - -
A B HT BLERAS I 30 | 1.1 —h 27 - -
BRI gt 30 | 1.0 2. 500 4. 3 - =
A BPRT DR X A ot — | Bk JEJH:Z%EH:Z% - -
_EECLAS 0> itk 40 | 1.1 15 27 - -
ELFETE) Eoei 30 | 1.1 2. 44l 4.8 — —
AEBFRT b AR B i 30 | L1 [Fh 2. 40 4. 8 1 - -
EEFRT/NER geit 30 | 1.1 —li 4.8 1 — —
EEFETA A Eoei 30 | 1.1 [ 2. 40 5. 3% 1 — —
A= B T T T Eet’ 30 | L1 —H 34l 1 - -
A BPET T I IR 30 | 1.1 2.4 4. 88 1 - -
A BTG Ece 30 | 1.0 [ 3. Ol 4. 3 1 - -
AR S IR 30 | L0l 2. 6l 4. 80 1 -| -
A HPRT P L =ty 30 | 1.0l 2. 4% 4. 88 1 - -
Am =ty 30 | 1.0 2. Ll 4. 40 1 - -
Prii g 30 | L1 2. 1l 4.7 - -
i B i X Sl —ll 2. Tl 5. 9 -l -
LFRELLS D K3,
1 [E#E31 25BN 30 | Lo(f 7.6 14 -l -
2 _ERCEA DR 30 | 1.0J#E 3. 1#f 6.5 - -
o EARR £ 30 | 1.0 [ 1. 90 2. T - -
JE Ecei 30 | 1.0 [ME 1.9 4. 4% - -
<| & = P XU —h Lospi 43 - - - -
LFRLEAS DK
1 EZHFE - CETEERIR 30 | LO|[F 8.7 15 Lo 12 | —
2 LERLS o 30 | LOJWE Lol 4. 480 120 1.2 — -
& hEHE Eoein 30 | LL[W0 L4 .58 LLOWE Lo | —
# Esei 30 | 1.1 2. 1 4. 7?@ L4t 1.4 —| —




S0 14y i = X 25
XATF 4« SR FoE LB E
e R ks @ A o w4 [P PEEERTIBEITOGES
&| JLSET SR Ecei 3ﬁ 1n}ng zﬁngﬁlg [
HI R BT — fin Ecei 30 LO%lﬂE2ﬁLIJE1J — —
PR ET R ok FH 1L X 35 4.0 4.6 | | |  —
EEELS 0 K
1 EEISHRECERA4 2 75HHOV [ 30 | Lo|F .o 12 2.36 2.3 | —
2 LFELIA o i 30 | Lo|P 9.qb MM23E23 - -
HIHRET Eeei 30 | L0 L7 Lo 2.0 2.0 | —
AT R A 2 R i Xk m2ﬂE3A — — — —
LERUA ORI 30 | L1[F 19 - -
HI AT ik I 30 | Lo 1.3 -l -
HI BT Al g 30 | 1.0 1.3 -l -
LIRAT 3 7 L FA X A5
1 Tk —t 3.2 - =
2 _ERLEA iR —fl 2.6 - =
LRELLA DR S5
1 Tk 40 | 1.0 [ff 3.3 - -
2 My fE, M T, BIE, RIR 40 | 1.0 [ 2.7 - -
3 _LRCEMAE D 40 | LO[F 19 — —
I HET &3 g 30 | 1.0k 1.9 - -
HIBHT B 230 e 30 | L0 1.8 - -
HIHT /N Fot Y b R s —id 2.2 - -
EFRLA o I
1 RE, FREE, TR 30 | 1.0 2.3 - -
2 LS o 30 | 1.0|% 5.0 — —
LI AT £ £ 30 | 1.0 i 1.7 -l -
I FAT 42 E=eh 30 | LOJME 2.1 - -
(LI AR T 387 52 Es 30 | 1.0 1.7 - -
AT P2 b X 45




ST 145y i = X 3E
XATF 4« SR FoE LB E
e R ks @ A o w4 [P PEEERTIBEITOGES
% A = * ® = # ®
& L SET 1 Ak —od 4l 42l | -~ —
2 ERLIS 0K —ﬁlﬂESﬂ - - - -
LERLIA o Kt
1 =@ 9 &fs 30 | L1|h oo 16 LaE 11— —
2 _EERLISh oM 30 | LoO|f 8. Of 11 L1y | —
LI R 7 ] Esin 30 | O LR 3.5%0 2.08 2.0 —|  —
LI T 3 ESsEn 30 | LOWE 1.8 2.0 180 1.8 | —
HI AT R A I 30 | LOWE L7l 2300 180l 1.8 | —
HLI BT A% i A KR —l 2.4t 3.5, | | | —
ERUADKE
1 EH#E4 27 5Hnn 40 | L[ Ll 4 LgWE 1LY | —
2 _EFLSh oM 40 | LO|F 7.9 loff LogEE 11 | —
AT R IR 30 | Lo L TE 2.3 L8l 1.8 —| —
HIHRCHT = 0% =ty 30 | 1O 1.8 2. 5% 1.8 1.8 —| @ —
HI AT 2R ES 30 | L0 1.8l 2. 500 L8l 1.8 —| —
VL1 HCHT 2845 VgL T 72 F [t
1 #0 —fol 2. 988 41| - - - -
2 LRERIAh oD ey —p#l 2.5 3.60 @ — — — —
LRSI 40 | 1.1 (fr oo o 12 Lo@iE g - —
HI T B A7 ik 30 Lomlﬁ%25ﬁ24E24 - =
ISR Fn R g 30 | L1 201 20300 1 1]~ —
H HEET R Ecei 30 | 1.0 1.7 23&11%11 - -
o] & BAR 2 FH i X3 —t 2. el 58— - - —
LEREA o Kk
1 EE31 25 B0 30 | L1|d o8 128 1aE 11— —
2 LERLS o 30 | L.OJWE 3.6 5. 980 LoukE L 0 — -
ST, FE2 F K 3 m2JE53 -1 - - -
ERRLISh O X8




ST 145y i = X 1H
XATF 4« SR FoE LB E
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
7= STR 1 FEFEHGE T AR 30 | L1(h 10/ 14 13 L3 —|  —
2 _LEELA o M 30 | 1.0 [ 3.3 5. O 1.3[: L3 - —
S R R B lun ol 5.9 | | | —
EEELS 0 K
1?\@3 1 28BEUEE4 2988 |30 | L1 s.6fF 246 1o 1.0 —| —
O
2 _ERELIAF DR 30 | 1.0 3.1 6. 08 L6l 1.6  — -
& HEE IR 30 | 1.0 [l 1.6l 3. 500 1. 1E 1.1 — —
il PR X A —Jhti 2. 1Ez 4.4 - - - =
LRRLIS DX
1 FEEHOFE - AR 40 | 11| 14 240 1.2 12— —
2 RERLSOHI 40 | L1 (f e 4 Lo 1oogwE 12— —
| A EceiA 30 | 1O [f L. O 4. 450 L4 1.4 0 — -
i P RiEk 30 | 1.0 [ 2. O 2. THE 1.:[;2 L1 - —
b Bk l=353F: i1 —l 2.1t 5.8 | —|  —|  —
RERLIA D KI5
1 EEMOTE- ZETERIE Y 30 | LO|h 83k 1o Lofli 1.2 | —
2 kLSO 30 | 1.1 [t 2. 7t 5. 9Em Lot 1.2 —|  —
o5 DAL =iy 30 | LOWE 2.0t 2.7 1o 1O —| —
P KA 30 | L1WE LOph 4 TRE L 4ME 1.4 0 — —
o 2 P Hh X gk —l 2. T 6.0 | —|  —|  —
RS DK g
1 EE3 1 2EmE 30 | LO|F 9.0 Gt 1.6 | —
2 REELS O Mg 30 | 1.0 3.1 Gt 1.6 —| —
| Fm (LET R EE S ESe 10 | 11 - 0 - =
FAm LmyER A =ty 30 | L1 2.1 B
Fo R LLIET 55 Es: 30 | LOWE 2.1 I B
B LT A Y 30 | Lo 2.1 B T
0 M (LET PR I 30 | 1o 2.1 e R




ST 145y i = X 5E
XATF 4« SR FoE LB E
S (TR wass @M m oW g [P ACEERTEECEA RS
| A LRTERAE i [ PO v R I B [
i H LT Ezecn 30 | 1.0 2. 20 3. 15 LTHE 1T — —
0 LT gt 30 | L1 2. 40 4. 00 LTE 1.7 — —
o L BT F P X3 —t 2. 1l 3.4 | | - —
EERLS O K
1 EE3 12 5 30 | LU|P o4 Lofh 2. 40 2.4 0 | —
2 kLo 30 | LLFH 2.3 3.6t 2.4 2.4 —| —
B LT /A A IR 30 | L.OWE 2 280 348 2.06 2.0 —| —
M LT A M =i 30 | 1.O|WE 2. 400 4. 8500 1.8 1.8  — —
Fa A LET A 5 I 30 | Lo 2.1 33&13@19 - -
0 LT S5 ) R —l o2 e 31 | | | —
LRELIA D RS
1 M — | B [EILUEEELTE e e | —
2 RIS MR
(1) [EE9 S#mV 30 | L1[F 17 - -
(2)  EFLAS O HR 30 | 1.0 2.3 - -
B LT SRR BT 40 | 1.0 [fh 2.3 -l -
A LR =3 I 30 | 1.0 1.2 - =
T LET B3 I 30 | 1.0 2.1 - -
1 LLIHT 75 2 P [ —l 2.0 3.0 —| - - -
RS oD K Se
1 [E5E 9 HHAW 30 | L1|F toff 13 L9199 —| —
2 ERCEA s 30 | Lo 2.1 SJﬁlQEIQ - -
0 LLET A P P L X fgk ﬂ4ﬂE68 -1 - - -
EERLA O KIS 40 | L1|F 17 145 o 4t 2.4 | —
FOHELETYT 7 E=eh 30 | L1l o2 1l 470 L7 1.7 - —
o F LI e A et 30 | O 2. LR 2. 6 2. 1l 2.1 — —
Fo AT Sz 2 SR P2 X fg —ft 2. 1l 280 | | - —




SF0 145 i = X 6
XATF 4« SR FoE LB E
e R ks @ A o w4 [P PEEERTIBEITOGES
| FnH LBz 7 [ LFCRAS D X teR 30% 1. 1%J§Jtt¥glﬁtti”§ l:l:£ l:l:fgl - N
T LT EE AR R A o ik
1 WSl s — | BEAR ELbMEE bW e bk | —
2 _EELLISh oo i 40 | 1.0 EJH:ZJJ;H:Z% ke bk - —
EERLIA o Hitkek 40 | L1|# 8. LIk 2. T@q 2.1 - —
0 H L ET R T TR HEVE Lo A I 30 | 1.1 JEJH:?%JEH:@F tevE el — -
_EFEEAS o HitkaR
1 BRI —| 2.290 3.3 — — — —
2 LRELU o i 30 | L1 2.3 3400 186 1.8 | —
Fo LT SR PN o F 1 X %23E2ﬁ = T R
LRRLIA o Kk 30 | 1.0 |4 6.2 6. Ll 2. 15k 2.1 — —
0 LT <R 2 P b —E 2.40 3.5 — - — —
EFRLIA O K
1 SRR — | AR AFLVEE LR R Pk - -
2 LEELUSh O iR 30 | LO|F 6.2 7600 2.08E 2.0 —| —
F A LIET I 30 | LOE 1 2% 2. 600 2. 400 2.4 —| —
A Ly e g 30 | 1O 2. L 328 17 17— —
1 L ETEFA I 30 | Lo 2 1l 4. 080 1LTRE 17— —
o H IET AR3E i PR M X ot 2. 2% 260  —|  —| - -
FRPADKIR 30 | LO|P 6.2 67 2.8 2] —| -
T LMyt T E A o AR
1 BERRAM M — | BRAR AL EE e tl:i%‘ - -
2 LRLS O 40 | 1.1 Jﬁth@l";ttﬁ ey e - —
LELEASR > iR
1 A —[f 2. 4 3.1 - - — —
2 LERLS o 30 | LL|H 4.8 5. 0% L8kl 1.8  — -
FH AT RS S A S — | BHR A e J:I:i’ér J:tﬁrkl:l:i”é - -
REELIS O I 30 | 1o|f 9.5F 10@ Lot 1.5 —|  —




S 1485y i =R * TH
XATF 4« SR FoE LB E
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
o FAHILATRA 1~ 5 T2 — | BRA | bt IEE b - - - -
B
01 FEL (L BRCF ESeE3 30 | LUPED 2.l 4000 LTRE 17—  —
FoH BT EL 7R £ 30 | 1.0 2.1 43@1@F1ﬁ - -
1 E LT ARTTEHEVE R ARt 30 | 1.1 |FMEELHE HvE bW — —
LFRELA o> it
1 AP 2. ot 3.4 | | | —
2 _EFLEISF MR
(1) EE3 125800 30 | L1|d 9.3 L o208 200 —| —
(20 ERELS OIS 30 | Lo 7.8d anw%zn - -
0 LT A F AR EIE TR Lo R
1 SRR R — | BEHR | YEE bR phYE LR - -
2 hRELSt R 30 Loﬁmﬁgmﬁ beve pedE - —
RERLAA D Hitke
1 R el 2.3t 3.2 - —-| - -
2 BRSSO
(1) SALIERO 30 | L1|F 19ff 21% 1.8 1.8 — -
(2)  LRCLAS DM 30 | LI 7T 1ngEoLsi 1.8 | —
T HH (L BT B TS HETE o A i
1 BEAAT HiE — | B JALCVEELLHE v bR - -
oINS O HIS 3 | 1.1 EJLI:?%EH:@ ke e - —
EFELA o> ik
1 B —l 2. 40 3.1 —| - = -
2 LELS o R 30 | 11| 9.5 130 L8 1.8 | —
o L BT R ket 30 | 1.1 1.6 3. 4E@ 3. o[: 30— —
Fo A LIBT 5B 5 fi P b X3 —ﬁ2JE3J e e
LFREIA D K i
1 [EE 9 SHEy 30 | L1|F 18 19?@ L7, —| —




ST 145y i = X 8
XATF 4« SR FoE LB E
e R ks @ A o w4 [P PEEERTIBEITOGES
o FH LT ERE S 2 bRELS oK mﬁ Lfng 3%@1@%1? [
A L] B 5 R T EHE I E o> AR 30 Llﬁmﬁgmﬁ ey e - —
LELEASN o i
1 A —| 2. 2% 3.4 — — — —
2 _EERLISh oM 30 | LoO|h 7.7F 1 LgME 1y | —
T ILETE K 30 | 1.0 2.1 48%18E18 — —
FimLETE AN Fe% i i1 ds %1&E2@ -1 - - -
ERRLISh O KR
1 EiE9 BBy 30 | L1|d ool 148 oLTEE LT | —
2 LSO K 30 | L1t 1.9 2ﬁL1J%1J - -
A LT B ) R ﬁSJE4B -1 - - -
LRELIA D RS
1 EHiE9 SR 30 | L1[F 17 - -
2 hEELAh oo Hitdk 30 | 1.0 3.8 - -
FAm L= =ty 30 | 1.0 2.1 — —
Fo A BT 22 H Ex: 30 | 1.0 A 2.0 - -
FrE (LR H R ER T FHE R Lo A 30 | L1 |FAkHE - -
LFELLS D i
1 =R —t 2. 4l 3.3 - —| - -
2 LA o g
(1) FOBEERE LRGR 30 | L1k 7.8 1ngE 2 2.~ —
(20 ERELS oI 30 | 1.1 |Wf 2.5 3.4 2. 46 21— —
FAHILETYED (2 0 | L1 - - - — — —
0 LR Eoei 30 | 11 2.1 4.8 Lol 1.6 — —
For FH (L BT 1L X A ok iﬁﬁﬁmﬁgm@rmﬁfw@ - -
_EEELIAN 0> itk 40 | L 1| 1 15fE LoE L5 — -




